

ON STARLIKENESS AND CLOSE-TO-CONVEXITY OF CERTAIN MEROMORPHIC FUNCTIONS

NENG XU AND DINGGONG YANG

ABSTRACT. In this paper we derive some sufficient conditions for starlikeness and close-to-convexity of order α of meromorphic functions in the punctured unit disk.

1. INTRODUCTION

Let Σ_n ($n \in \mathbb{N} = \{1, 2, 3, \dots\}$) denote the class of functions of the form

$$f(z) = \frac{1}{z} + \sum_{m=n-1}^{\infty} a_m z^m \quad (1)$$

which are analytic in the punctured unit disk $E_0 = \{z : 0 < |z| < 1\}$. A function $f(z) \in \Sigma_n$ is said to be *meromorphic starlike of order α* if it satisfies

$$-\operatorname{Re} \frac{zf'(z)}{f(z)} > \alpha \quad (z \in E = E_0 \cup \{0\}) \quad (2)$$

for some α ($0 \leq \alpha < 1$). We denote by $\Sigma_n^*(\alpha)$ ($0 \leq \alpha < 1$) the class of all meromorphic starlike functions of order α . Also we write $\Sigma_1 = \Sigma$ and $\Sigma_1^*(\alpha) = \Sigma^*(\alpha)$.

Let $MC_n(\alpha)$ be the subclass of Σ_n consisting of functions $f(z)$ which satisfy

$$-\operatorname{Re}\{z^2 f'(z)\} > \alpha \quad (z \in E) \quad (3)$$

for some α ($0 \leq \alpha < 1$). A function $f(z)$ in $MC_n(\alpha)$ ($0 \leq \alpha < 1$) is meromorphic close-to-convex of order α (see, e. g., Ganigi & Uralegaddi [2]).

Meromorphic starlike functions and meromorphic close-to-convex functions have been studied by several authors.

Received by the editors January 27, 2003.

2000 *Mathematics Subject Classification.* 30C45.

Key words and phrases. meromorphic functions, starlikeness, close-to-convexity, subordination.

© 2003 Korea Soc. Math. Educ.

2. PRELIMINARIES

Let $f(z)$ and $g(z)$ be analytic in E . Then the function $f(z)$ is said to be subordinate to $g(z)$, written $f(z) \prec g(z)$, if there exists an analytic function $w(z)$ with $w(0) = 0$ and $|w(z)| < 1 (z \in E)$ such that $f(z) = g(w(z))$ for $z \in E$. If $g(z)$ is univalent in E , then $f(z) \prec g(z)$ is equivalent to $f(0) = g(0)$ and $f(E) \subset g(E)$.

To derive our results, we need the following lemmas.

Lemma 1. *Let $g(z) = b_0 + b_n z^n + b_{n+1} z^{n+1} + \dots$ ($n \in \mathbb{N}$) be analytic in E and let $h(z)$ be analytic and starlike (with respect to the origin) univalent in E with $h(0) = 0$. If $zg'(z) \prec h(z)$, then*

$$g(z) \prec b_0 + \frac{1}{n} \int_0^z \frac{h(t)}{t} dt.$$

It is clear that this lemma is equivalent to of Yang [5, lemma 2].

Lemma 2 (Miller & Mocanu [4]). *Let $g(z)$ be analytic and univalent in E and let $\theta(w)$ and $\varphi(w)$ be analytic in a domain D containing $g(E)$, with $\varphi(w) \neq 0$ when $w \in g(E)$. Set*

$$Q(z) = zg'(z)\varphi(g(z)), \quad h(z) = \theta(g(z)) + Q(z)$$

and suppose that

- (i) $Q(z)$ is univalent and starlike in E , and
- (ii) $\operatorname{Re} \frac{zh'(z)}{Q(z)} = \operatorname{Re} \left\{ \frac{\theta'(g(z))}{\varphi(g(z))} + \frac{zQ'(z)}{Q(z)} \right\} > 0$ ($z \in E$).

If $p(z)$ is analytic in E , with $p(0) = g(0), p(E) \subset D$ and

$$\theta(p(z)) + zp'(z)\varphi(p(z)) \prec \theta(g(z)) + zg'(z)\varphi(g(z)) = h(z), \quad (4)$$

then $p(z) \prec g(z)$ and $g(z)$ is the best dominant of (4).

Lemma 3 (Miller & Mocanu [3]). *Let $g(z) = b_0 + b_n z^n + b_{n+1} z^{n+1} + \dots$ ($n \in \mathbb{N}$) be analytic in E with $g(z) \neq b_0$. If $0 < |z_0| < 1$ and $\operatorname{Re} g(z_0) = \min_{|z| \leq |z_0|} \operatorname{Re} g(z)$, then*

$$z_0 g'(z_0) \leq -\frac{n|b_0 - g(z_0)|^2}{2 \operatorname{Re}\{b_0 - g(z_0)\}}.$$

3. MAIN RESULTS

Applying Lemma 1, we derive the following theorem.

Theorem 1. Let $f(z) \in \Sigma_n$ satisfy $f(z)f'(z) \neq 0$ in E_0 and

$$-\alpha \frac{zf'(z)}{f(z)} + \frac{zf''(z)}{f'(z)} + 2 - \alpha \prec \frac{az}{1-bz}, \quad (5)$$

where α , a and b are real numbers with $a \neq 0$ and $0 \leq b \leq 1$.

(i) If $0 < a \leq n$ and $0 < b \leq 1$, then

$$-\operatorname{Re} \left\{ \frac{z^{2-\alpha} f'(z)}{f^\alpha(z)} \right\} > \left(\frac{1}{1+b} \right)^{\frac{a}{nb}} \quad (z \in E).$$

(ii) If $0 < a \leq n$ and $b = 0$, then

$$-\operatorname{Re} \left\{ \frac{z^{2-\alpha} f'(z)}{f^\alpha(z)} \right\} > e^{-\frac{a}{n}} \quad (z \in E).$$

(iii) If $a \neq 0$ and $0 < b \leq 1$, then

$$\left| \left(-\frac{z^{2-\alpha} f'(z)}{f^\alpha(z)} \right)^{-\frac{nb}{a}} - 1 \right| < b \quad (z \in E).$$

(iv) If $a > 0$ and $b = 0$, then

$$\left| \frac{z^{2-\alpha} f'(z)}{f^\alpha(z)} + 1 \right| < e^{\frac{a}{n}} - 1 \quad (z \in E).$$

Proof. Let $f(z) \in \Sigma_n$ with $f(z)f'(z) \neq 0$ ($z \in E_0$) and define

$$g(z) = -\alpha \left(\frac{zf'(z)}{f(z)} + 1 \right) + \frac{zf''(z)}{f'(z)} + 2.$$

Then $g(z) = b_n z^n + b_{n+1} z^{n+1} + \dots$ is analytic in E and (5) can be rewritten as

$$g(z) \prec h(z), \quad (6)$$

where $h(z) = az/(1-bz)$ is analytic and starlike univalent in E . Applying Lemma 1 to (6) we have

$$\int_0^z \frac{g(t)}{t} dt \prec \frac{1}{n} \int_0^z \frac{h(t)}{t} dt,$$

that is,

$$-\alpha \int_0^z \left(\frac{f'(t)}{f(t)} + \frac{1}{t} \right) dt + \int_0^z \left(\frac{f''(t)}{f'(t)} + \frac{2}{t} \right) dt \prec \frac{a}{n} \int_0^z \frac{dt}{1-bt}. \quad (7)$$

(i) If $0 < a \leq n$ and $0 < b \leq 1$, then from (7) we deduce that

$$-\frac{z^{2-\alpha} f'(z)}{f^\alpha(z)} \prec \left(\frac{1}{1-bz} \right)^{\frac{a}{nb}} \equiv h_1(z). \quad (8)$$

The function $h_1(z)$ is analytic and convex univalent in E because

$$\operatorname{Re} \left\{ 1 + \frac{zh_1''(z)}{h_1'(z)} \right\} = \operatorname{Re} \frac{1 + (a/n)z}{1-bz} > \frac{1 - (a/n)}{1+b} \geq 0 \quad (z \in E).$$

Also $h_1(E)$ is symmetric with respect to the real axis. Hence $\operatorname{Re} h_1(z) > h_1(-1)$ in E and it follows from (8) that

$$-\operatorname{Re} \left\{ \frac{z^{2-\alpha} f'(z)}{f^\alpha(z)} \right\} > \left(\frac{1}{1+b} \right)^{\frac{a}{nb}} \quad (z \in E).$$

(ii) If $0 < a \leq n$ and $b = 0$, then from (7) we obtain

$$-\frac{z^{2-\alpha} f'(z)}{f^\alpha(z)} \prec e^{\frac{a}{n}z} \equiv h_2(z). \quad (9)$$

Since $h_2(z)$ is analytic and convex univalent in E and $h_2(E)$ is symmetric with respect to the real axis, it follows from (9) that

$$-\operatorname{Re} \left\{ \frac{z^{2-\alpha} f'(z)}{f^\alpha(z)} \right\} > e^{-\frac{a}{n}} \quad (z \in E).$$

(iii) If $a \neq 0$ and $0 < b \leq 1$, then by (8) we have

$$-\frac{z^{2-\alpha} f'(z)}{f^\alpha(z)} = \left(\frac{1}{1-bw(z)} \right)^{\frac{a}{nb}} \quad (z \in E),$$

where $w(z)$ is analytic in E with $|w(z)| \leq |z|$ ($z \in E$). Therefore,

$$\left| \left(-\frac{z^{2-\alpha} f'(z)}{f^\alpha(z)} \right)^{-\frac{nb}{a}} - 1 \right| = |-bw(z)| < b \quad (z \in E).$$

(iv) If $a > 0$ and $b = 0$, then from (9) we get

$$-\frac{z^{2-\alpha} f'(z)}{f^\alpha(z)} = e^{\frac{a}{n}w(z)} \quad (z \in E),$$

where $w(z)$ is analytic in E with $|w(z)| \leq |z|$ ($z \in E$). Thus

$$\left| \frac{z^{2-\alpha} f'(z)}{f^\alpha(z)} + 1 \right| = \left| e^{\frac{a}{n}w(z)} - 1 \right| \leq e^{\frac{a}{n}|w(z)|} - 1 < e^{\frac{a}{n}} - 1$$

for $z \in E$. The proof of the theorem is now complete. \square

By specifying the values of the parameters appearing in Theorem 1, we can obtain several useful consequences.

Taking $n = 1$, $0 < a = 2(2 - \alpha - \beta) \leq 1$ and $b = 1$, Theorem 1(i) reduces to the following corollary.

Corollary 1. *If $f(z) \in \Sigma$ satisfies $f(z)f'(z) \neq 0$. In E_0 and*

$$\operatorname{Re} \left\{ \alpha \frac{zf'(z)}{f(z)} - \frac{zf''(z)}{f'(z)} \right\} < 2(2 - \alpha) - \beta \quad (z \in E), \quad (10)$$

where α is real and $3/2 - \alpha \leq \beta < 2 - \alpha$, then

$$-\operatorname{Re} \left\{ \frac{z^{2-\alpha}f'(z)}{f^\alpha(z)} \right\} > \frac{1}{4^{2-\alpha-\beta}} \quad (z \in E).$$

Remark 1. Cho & Owa [1] proved that if $f(z) \in \Sigma_2$ satisfies $f(z)f'(z) \neq 0$ in E_0 and (10) for $\alpha \leq 2$ and $3/2 - \alpha \leq \beta < 2 - \alpha$, then

$$-\operatorname{Re} \left\{ \frac{z^{2-\alpha}f'(z)}{f^\alpha(z)} \right\} > \frac{1}{1 + 2(2 - \alpha - \beta)} \quad (z \in E).$$

In view of $\Sigma_2 \subset \Sigma$ and $2^a < 1 + a$ ($0 < a < 1$), our Corollary 1 is a better result than the main theorem of Cho & Owa [1].

Corollary 2. *If $f(z) \in \Sigma_n$ satisfies $f(z)f'(z) \neq 0$ in E_0 and*

$$\operatorname{Re} \left\{ \frac{zf'(z)}{f(z)} - \frac{zf''(z)}{f'(z)} \right\} < 1 + \frac{a}{2} \quad (z \in E) \quad (11)$$

for some a ($0 < a \leq n$), then $f(z) \in \Sigma_n^*(2^{-a/n})$ and the order $2^{-a/n}$ is sharp.

Proof. Letting $\alpha = b = 1$ in Theorem 1(i) and using (11), we see that

$$f(z) \in \Sigma_n^*(2^{-a/n}).$$

To show that the order $2^{-a/n}$ cannot be increased, we consider

$$f(z) = \frac{1}{z} \exp \int_0^z \frac{1 - (1 + t^n)^{-a/n}}{t} dt \in \Sigma_n.$$

It is easy to verify that this function $f(z)$ satisfies (11) and

$$-\operatorname{Re} \frac{zf'(z)}{f(z)} = \operatorname{Re} \left\{ \left(\frac{1}{1 + z^n} \right)^{\frac{a}{n}} \right\} \rightarrow \left(\frac{1}{2} \right)^{\frac{a}{n}}$$

as $z \rightarrow 1$. The proof is complete. \square

Putting $\alpha = 0$ and $b = 1$ in Theorem 1(i), we have the following corollary.

Corollary 3. *If $f(z) \in \Sigma_n$ satisfies $f'(z) \neq 0$ in E_0 and*

$$-\operatorname{Re} \frac{zf''(z)}{f'(z)} < 2 + \frac{a}{2} \quad (z \in E)$$

for some a ($0 < a \leq n$), then $f(z) \in MC_n(2^{-a/n})$.

Remark 2. For $n = 1$, Corollary 2 (with $0 < a = 2(1 - \beta) \leq 1$) and Corollary 3 (with $0 < a = 2(2 - \beta) \leq 1$) are better than the corresponding results in Cho & Owa [1]. Setting $\alpha = 0, 1$ in Theorem 1(ii), we have the following two corollaries.

Corollary 4. *If $f(z) \in \Sigma_n$ satisfies $f'(z) \neq 0$ in E_0 and*

$$\left| \frac{zf''(z)}{f'(z)} + 2 \right| < a \quad (z \in E)$$

for some a ($0 < a \leq n$), then $f(z) \in MC_n(e^{-a/n})$.

Corollary 5. *If $f(z) \in \Sigma_n$ satisfies $f(z)f'(z) \neq 0$ in E_0 and*

$$\left| 1 + \frac{zf''(z)}{f'(z)} - \frac{zf'(z)}{f(z)} \right| < a \quad (z \in E)$$

for some a ($0 < a \leq n$), then $f(z) \in \Sigma_n^(e^{-a/n})$ and the order $e^{-a/n}$ is sharp with the extremal function*

$$f(z) = \frac{1}{z} \exp \int_0^z \frac{1 - e^{-(a/n)t^n}}{t} dt.$$

For $\alpha = 1$ and $a = -nb$ ($0 < b \leq 1$), Theorem 1(iii) yields.

Corollary 6. *If $f(z) \in \Sigma_n$ satisfies $f(z)f'(z) \neq 0$ in E_0 and*

$$1 + \frac{zf''(z)}{f'(z)} - \frac{zf'(z)}{f(z)} < -\frac{nbz}{1-bz}$$

for some b ($0 < b \leq 1$), then $f(z) \in \Sigma_n^(1-b)$ and the order $1-b$ is sharp with the extremal function $f(z) = e^{(b/n)z^n}/z$.*

Next, applying Lemma 2, we derive the following two results.

Theorem 2. *If $f(z) \in \Sigma$ satisfies $f(z) \neq 0$ in E_0 and*

$$-\frac{zf'(z)}{f(z)} - \frac{z^2f''(z)}{f(z)} + 2 \left(\frac{zf'(z)}{f(z)} \right)^2 < h(z), \quad (12)$$

where

$$h(z) = \frac{(1-2\alpha)^2z^2 + 2(2-3\alpha)z + 1}{(1-z)^2}, \quad 0 \leq \alpha < 1, \quad (13)$$

then $f(z) \in \Sigma^(\alpha)$ and the order α is sharp.*

Proof. Let us put

$$-\frac{zf'(z)}{f(z)} = (1-\alpha)p(z) + \alpha \quad (14)$$

for $0 \leq \alpha < 1$. Then $p(z)$ is analytic in E and $p(0) = 1$. Differentiating (14) logarithmically, we find that

$$\begin{aligned} & -\frac{zf'(z)}{f(z)} - \frac{z^2f''(z)}{f(z)} + 2\left(\frac{zf'(z)}{f(z)}\right)^2 \\ &= -\frac{zf'(z)}{f(z)} \left(1 + \frac{zf''(z)}{f'(z)} - 2\frac{zf'(z)}{f(z)}\right) \\ &= (1-\alpha)zp'(z) + ((1-\alpha)p(z) + \alpha)^2. \end{aligned} \quad (15)$$

From (12) and (15) we have

$$(1-\alpha)zp'(z) + (1-\alpha)^2p^2(z) + 2\alpha(1-\alpha)p(z) + \alpha^2 \prec h(z). \quad (16)$$

We choose

$$g(z) = \frac{1+z}{1-z}, \quad \theta(w) = (1-\alpha)^2w^2 + 2\alpha(1-\alpha)w + \alpha^2, \quad \varphi(w) = 1-\alpha. \quad (17)$$

Then $g(z)$ is analytic and univalent in E , $\operatorname{Re} g(z) > 0$ ($z \in E$), $\theta(w)$ and $\varphi(w)$ are analytic with $\varphi(w) \neq 0$ in the w -plane. The function

$$Q(z) = zg'(z)\varphi(g(z)) = 2(1-\alpha)\frac{z}{(1-z)^2} \quad (18)$$

is univalent and starlike in E . Further,

$$\begin{aligned} & \theta(g(z)) + Q(z) \\ &= (1-\alpha)^2 \left(\frac{1+z}{1-z}\right)^2 + 2\alpha(1-\alpha) \left(\frac{1+z}{1-z}\right) + \alpha^2 + 2(1-\alpha)\frac{z}{(1-z)^2} \\ &= \frac{(1-2\alpha)^2z^2 + 2(2-3\alpha)z + 1}{(1-z)^2} = h(z) \end{aligned} \quad (19)$$

and

$$\operatorname{Re} \frac{zh'(z)}{Q(z)} = \operatorname{Re} \left\{ 2(1-\alpha)g(z) + 2\alpha + \frac{zQ'(z)}{Q(z)} \right\} = (3-2\alpha)\operatorname{Re} \frac{1+z}{1-z} + 2\alpha > 0$$

for $z \in E$. In view of (16)–(19), we see that

$$\theta(p(z)) + zp'(z)\varphi(p(z)) \prec \theta(g(z)) + zg'(z)\varphi(g(z)) = h(z).$$

Therefore, Lemma 2 leads to $p(z) \prec g(z)$, which implies that $f(z) \in \Sigma^*(\alpha)$.

Next we consider

$$f(z) = \frac{(1-z)^{2(1-\alpha)}}{z} \in \Sigma. \quad (20)$$

It is easy to see that

$$-\frac{zf'(z)}{f(z)} - \frac{z^2f''(z)}{f(z)} + 2\left(\frac{zf'(z)}{f(z)}\right)^2 = h(z)$$

and

$$-\operatorname{Re} \frac{zf'(z)}{f(z)} = \operatorname{Re} \frac{1 + (1 - 2\alpha)z}{1 - z} \rightarrow \alpha$$

as $z \rightarrow -1$. The proof of the theorem is complete. \square

Theorem 3. *If $f(z) \in \Sigma$ satisfies $f(z) \neq 0$ in E_0 and*

$$-\frac{zf'(z)}{f(z)} - 2\alpha \frac{z^2f''(z)}{f(z)} + 4\alpha \left(\frac{zf'(z)}{f(z)}\right)^2 \prec h(z), \quad (21)$$

where

$$h(z) = \frac{(2\alpha - 1)^3 z^2 + 2\alpha(3 - 4\alpha)z + 1}{(1 - z)^2}, \quad 0 \leq \alpha < 1,$$

then $f(z) \in \Sigma^*(\alpha)$ and the order α is sharp.

Proof. It suffices to prove the theorem for $0 < \alpha < 1$. We define the function $p(z)$ by (14). Then $p(z)$ is analytic in E and $p(0) = 1$. By a brief calculation, we find that

$$\begin{aligned} & -\frac{zf'(z)}{f(z)} - 2\alpha \frac{z^2f''(z)}{f(z)} + 4\alpha \left(\frac{zf'(z)}{f(z)}\right)^2 \\ &= -\frac{zf'(z)}{f(z)} \left(1 + 2\alpha \frac{zf''(z)}{f'(z)} - 4\alpha \frac{zf'(z)}{f(z)}\right) \\ &= 2\alpha(1 - \alpha)zp'(z) + 2\alpha(1 - \alpha)^2p^2(z) \\ &\quad + (1 - \alpha)(1 - 2\alpha + 4\alpha^2)p(z) + \alpha(1 - 2\alpha + 2\alpha^2). \end{aligned}$$

Thus the subordination (21) becomes

$$\begin{aligned} & 2\alpha(1 - \alpha)zp'(z) + 2\alpha(1 - \alpha)^2p^2(z) + (1 - \alpha)(1 - 2\alpha + 4\alpha^2)p(z) + \alpha(1 - 2\alpha + 2\alpha^2) \\ &\quad \prec h(z). \end{aligned}$$

Set $g(z) = (1 + z)/(1 - z)$, $\theta(w) = 2\alpha(1 - \alpha)^2w^2 + (1 - \alpha)(1 - 2\alpha + 4\alpha^2)w + \alpha(1 - 2\alpha + 2\alpha^2)$ and $\varphi(w) = 2\alpha(1 - \alpha)$. Then $g(z)$, $\theta(w)$ and $\varphi(w)$ satisfy the conditions of Lemma 2. The function

$$Q(z) = zg'(z)\varphi(g(z)) = 4\alpha(1 - \alpha)\frac{z}{(1 - z)^2}$$

is univalent and starlike in E . Further,

$$\begin{aligned} \theta(g(z)) + Q(z) &= 2\alpha(1-\alpha)^2 \left(\frac{1+z}{1-z}\right)^2 + (1-\alpha)(1-2\alpha+4\alpha^2) \left(\frac{1+z}{1-z}\right) \\ &\quad + \alpha(1-2\alpha+2\alpha^2) + 4\alpha(1-\alpha) \frac{z}{(1-z)^2} \\ &= \frac{(2\alpha-1)^3 z^2 + 2\alpha(3-4\alpha)z + 1}{(1-z)^2} = h(z) \end{aligned}$$

and

$$\begin{aligned} \operatorname{Re} \frac{zh'(z)}{Q(z)} &= \operatorname{Re} \left\{ 2(1-\alpha)g(z) + \frac{1-2\alpha+4\alpha^2}{2\alpha} + \frac{zQ'(z)}{Q(z)} \right\} \\ &= (3-2\alpha) \operatorname{Re} \frac{1+z}{1-z} + \frac{1-2\alpha+4\alpha^2}{2\alpha} > 0 \end{aligned}$$

for $z \in E$. Note that

$$\theta(p(z)) + zp'(z)\varphi(p(z)) \prec \theta(g(z)) + zg'(z)\varphi(g(z)) = h(z).$$

Hence, an application of Lemma 2 yields that $p(z) \prec g(z)$, that is, $f(z) \in \Sigma^*(\alpha)$.

For the function $f(z)$ defined by (20), we have

$$-\frac{zf'(z)}{f(z)} - 2\alpha \frac{z^2 f''(z)}{f(z)} + 4\alpha \left(\frac{zf'(z)}{f(z)}\right)^2 = h(z)$$

and

$$-\operatorname{Re} \frac{zf'(z)}{f(z)} \rightarrow \alpha \text{ as } z \rightarrow -1.$$

Hence the theorem is proved. \square

Finally, by using Lemma 3, we prove have the following theorem.

Theorem 4. Let $f(z) \in \Sigma_n$ satisfy $f(z) \neq 0$ in E_0 and

$$\left| \arg \left\{ -\lambda \left(\frac{zf'(z)}{f(z)} + \frac{z^2 f''(z)}{f(z)} \right) + (1+\lambda) \left(\frac{zf'(z)}{f(z)} \right)^2 + \frac{n\lambda}{2} \right\} \right| < \pi \quad (z \in E) \quad (22)$$

for some λ ($\lambda > 0$). Then $f(z) \in \Sigma_n^*(0)$ and the order 0 is sharp.

Proof. The function $g(z)$ defined by

$$g(z) = -\frac{zf'(z)}{f(z)} = 1 + b_n z^n + b_{n+1} z^{n+1} + \dots$$

is analytic in E and it is easily verified that

$$-\lambda \left(\frac{zf'(z)}{f(z)} + \frac{z^2 f''(z)}{f(z)} \right) + (1+\lambda) \left(\frac{zf'(z)}{f(z)} \right)^2 = g^2(z) + \lambda z g'(z) \quad (z \in E). \quad (23)$$

suppose that there exists a point $z_0 \in E_0$ such that

$$\operatorname{Re} g(z) > 0 \quad (|z| < |z_0|), \quad g(z_0) = i\beta, \quad (24)$$

where β is a real number. Then, applying Lemma 3, we have

$$z_0 g'(z_0) \leq -\frac{n(1+\beta^2)}{2}. \quad (25)$$

Thus it follows from (23), (24) and (25) that

$$\begin{aligned} & -\lambda \left(\frac{z_0 f'(z_0)}{f(z_0)} + \frac{z_0^2 f''(z_0)}{f(z_0)} \right) + (1+\lambda) \left(\frac{z_0 f'(z_0)}{f(z_0)} \right)^2 + \frac{n\lambda}{2} \\ & = g^2(z_0) + \lambda z_0 g'(z_0) + \frac{n\lambda}{2} \\ & \leq -\beta^2 - \frac{n\lambda(1+\beta^2)}{2} + \frac{n\lambda}{2} \\ & \leq 0 \end{aligned}$$

for $\lambda > 0$, which contradicts (22). Hence $\operatorname{Re} g(z) > 0$ ($z \in E$), that is, $f(z) \in \Sigma_n^*(0)$.

If we let $f_n(z) = (1-z^n)^{2/n}/z \in \Sigma_n$, then

$$\begin{aligned} & -\lambda \left(\frac{z f_n'(z)}{f_n(z)} + \frac{z^2 f_n''(z)}{f_n(z)} \right) + (1+\lambda) \left(\frac{z f_n'(z)}{f_n(z)} \right)^2 + \frac{n\lambda}{2} \\ & = \left(1 + \frac{n\lambda}{2} \right) \left(\frac{1+z^n}{1-z^n} \right)^2 \quad (z \in E), \end{aligned}$$

and so the function $f_n(z)$ satisfies (22). Noting that

$$-\operatorname{Re} \frac{z f_n'(z)}{f_n(z)} = -\operatorname{Re} \frac{1+z^n}{1-z^n} \rightarrow 0$$

as $z \rightarrow e^{i\pi/n}$, we conclude that the order 0 is best possible. \square

REFERENCES

1. N. E. Cho and S. Owa: Sufficient conditions for meromorphic starlikeness and close-to-convexity of order α . *Int. J. Math. Math. Sci.* **26** (2001), no. 5, 317–319. MR **2002f**:30013
2. M. D. Ganigi and B. A. Uralegaddi: Subclasses of meromorphic close-to-convex functions. *Bull. Math. Soc. Sci. Math. R. S. Roumanie (N.S.)* **33(81)** (1989), no. 2, 105–109. MR **91b**:30036
3. S. S. Miller and P. T. Mocanu: Second-order differential inequalities in the complex plane. *J. Math. Anal. Appl.* **65** (1978), no. 2, 289–305. MR **80f**:30009

4. _____: On some classes of first-order differential subordinations. *Michigan Math. J.* **32** (1985), no. 2, 185–195. MR **86h:30046**
5. D. Yang: On sufficient conditions for multivalent starlikeness. *Bull. Korean Math. Soc.* **37** (2000), no. 4, 659–668. MR **2001h:30017**

(N. XU) DEPARTMENT OF MATHEMATICS, CHANGSHU COLLEGE, CHANGSHU, JIANGSU 215500,
CHINA
Email address: `lszhu@pub.sz.jsinfo.net`

(D. YANG) DEPARTMENT OF MATHEMATICS, SUZHOU UNIVERSITY, SUZHOU, JIANGSU 2150060,
CHINA